o OUoobobodg

9.1 0O [ [0 O

9.2 0OUOO
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9.3 UOUOoooboond

00000 (FEM, finite element method) 000000000000 OOO0OOOUOOOOOOOOOO
gbbobooooobobobooooooooooooboobobbobooboobooooboobOooobobooobooaon
obOoooobOoooboobbooooOobbOOOoOoObOOobOOoOoOoObO0obOoooooooooboOoooon
goooboz20bboobooboooboboobbobbbooooobboooboobobooobooooon
obOoooOoboobooobobooobobo 100000000 b20000b000000O0O00O0O0000
ooobobooobooboooooo400000b00DOOODODODOOODODODOOOO 200000
ooobooooooboooooboooboboboobooboboooboboobooboooboooooooon
gooooobooboon

9.3.1 0000

000000000000000000000000000000000000 (element) 0000000
000000000000 000000 (mesh discretization) 10 000000000000000000
000000000000000000000000000000000000000000000000
000000000000000000000000000000 DATAODOOOOOOOOOO000O
00000 BLOCKDATAOOOODOOOM([0OOOOD][0000])=[0000]j000000

DIMENSION M(3,NF)
DATA M/1,4,5, 1,5,2, 2,5,6, 2,6,3, 3,6,7, 4,8,9, 4,9,5, ...... /

gooogoobooboobooobobobooobobooooobooboooooobooooooooboon
oogd

DIMENSION M(4,NF)
DO 10 I=1,IF-1; DO 10 J=1,JF

K=(I-1)*JF+J 'nodal pt number
N=(I-1)*(JF-1)+J !element number
M(1,N)=K ; M(2,N)=K+JF

M(3,N)=K+JF+1 ; M(4,N)=K+1
10 CONTINUE

091 0004d

boboobbobobOoooobooobooooooboobobbobooobobOooobOobOoon
0 (000O0)oooooooOoooUoUo0o 10000000000 000000oooooUoOoo
000000 93000000000 ()O00O0O0OO(MO0O0O0O0ONO 271%0000000000 (b)0O
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020000000 (00670 270000000000000O00O0O0OOO (M) ODOOOOOOO
000000000 ((O0D00000 1/20000

oboo0oz2000 obobooooooooon goood gooood

0920000000000

(a) (b)
093 000000000

9.3.2 0000

0000000000 w(x) 000000000000 0000 w(x)DOOOOOO (interpolation func-
tion) D 0O0O0OD0OOO

u(x) = u*(x) = ¢i(x)U; = ¢(x)-U (9.1)

000 00000 (shape function 0000000 base function) 0 000 000000000 UO » (O
000000 u,, ujk, ... '000)0000000000COODOOOO00O0 FEMOOOOO u(z)00
gooooooovuO0 1000000000

O0wuwzx)0OODOOODOOOOOOOOO 000000000000 0O0OOO0OOOO

ol—
u; =~ u; = (lsi,jUi;
u ik R @i kUi

O000wuw(x)DOO0OOO0O0O0OO 0000000000000 O0OODOOOOODOOO

/Qud()%;/ eu*d():;/ge@(z)dQUi,

/u,ku,ldn ~ Z/ bi ;1 dQUU;
2 —J e

luj = Ou/dzj, u ji, = Ou/0z;0Tk, u;p = Oui/Ow0
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gog fgd(), fQ d200000000000 1000000000000, 00000000000
000000 0000 w*(z,y) DO0OOOOOOOOO

U*(;U, y) = ZCV¢V(m7 y)
v=1

=1+ crtc3y
+ ca® +eszy +cpy?

+ cra +cgxly+coxy? + oy +- - (9.2)

000 e, 0000000000000 0O0OO00O0O0O00O00O000 (9.2)DDDDDDDDDDDDDDDDD
UiZU*(wiayi):Zcuwu(xiayi) (i:]-a 27”'7”) (93)
v=1

0001000000 (92)00 (93)00000 300002000000 6000000000 (9.1)0O
0000 (9.2)00000 (93) 00000, 00O0D0ODOOOOODDOODOOOOO

Y1(x) = Pr(z1) P14+ -+ (Zn) dn

I/’n(z):I/’n(zl)¢1+"'+¢n(zn)¢n
oo0o000ooog ¢1,¢0,...,0, 000 100000000000000000000O
AT¢pT =p" (pA=0) (9.4)

0001000020000 A, p0000000DOO

A b
1 1 Y1
000 1000 1 22 (1 z y)
1 z3 y3
L o oy xd oy’
Lo gy @ ays Y
1 2 2
0002000 T3 Yz T3 Tahs Ys ( 1 ¢ y #° =y y2)
1 T4 ya x4 Tays Y
1oz ys x5 Tsys Y5
1 2 2

Te Ys Te TeYs Ye

0000 ¢00 (94)0 Cramer 0000000 OODOOODODOO

ogoooo0oooooooooo 1000000000 o00o00ooooooobooooon
. 1 =z y| |1 2z yi| |1 21 0
¢:Z 1 o w2l |1 2 y| |1 22 yo (9.5)
1 zz3 ys| |1 w3 y3| |1 = y



oo @O M M 0oogogo )

gog

I 21w
=Al=|1 @ yo|=|@2—21)x (@5 — 1)
I z3 ys
A0000000O0O0OO0O 2000000000 (95 000000000000000 ¢4, ¢e, ¢p3 0 A123

0000000 AP230AP31I0API12000000000000000O00C0010000000000
000 (area coordinates) 000000000000

3 3
1
b2
2 2
1 1 b3
0001000000000 1000000 1000000020000 00000
e\ _ 1[{y2— - -
<¢>:_<y2 Ys Ys—y1 n1 y2> (9.6)
¢'y A r3—=T2 T1—T3 T2—T1
goobo0oooo0obboooooooobooooboobooo
U!'m!n!
L m n
. df) = ——M 9.7
¢3\y dt o2
h

! a 1
094 0001000000000 0000O0

00000 100000000 (9000000000000 O00O0O0O0O00O0OOOOOODOO

¢1 = as/A,
2 = {a(h—s)—ht}/A,
¢3 = ht/A

oooOooooooOo (o.nyoooo

dlomprdd = 20 ahmr ’ds " S/h (1—s/h) — t}™t"dt
o 172 73 Al+m+n



6 b ooogoooooaooo

gbooboooooboboobooobobooboobooogon

m!n! m!n!pmtntl

b b b
n

b—t)"t"dt = p—t)m =1l — ... = 7/ p—p)ymtrgp =~

/0( ) m+1/0( ) (m+n)! 0( ) (m+n+1)!

oobobO¢tobooobooobb soobobooooboooo

['m!n!

_ \ym+n+l 1 —
(h—s) s'ds Trmintd)]

min!gttmtntlp—1 rh
~ (m+n+1) !A’+m+"/0

0oo[oooo]o
0000000000000 ¢,00000 A=]A|0i000%00000000000000 20
0000000000000 A0bBOOOO0OO0O0O0O0O0D0O000000O
000 3000000000000000000000«000000000000000 u,, u,00
0000000000000000 Hermite 00000000300000000 (9.2)0 10000000
000000000 1000000000000 3000 w,u,,u, 00000000 «00000000
030000000000000

u1

U= . A=A

00 A0 b0D00OOODOOO

A b

L ozoy oz oy oy’ oz’ wly o’y

0 1 0 21 w1 0 3z 2xy1 yl 0

0 0 1 2y O e 2miy 3yl

1 o yo @ oy Y5 T3 T3Ys  Tays Yo
ooo 30 0 1 0 2z2 1y 0 3zf 2xay2 ys 0 (1 = y z° zy ¢°
Hermite 0 O 0 0 T2 2y2 0 zs 2z2y2  3ys 22 2y xzy® y?)

1 w3 ys xf ways ysd ws  wiys  ways s

0 0 2x3 s 0 3zi 2x3ys Y5 0

0 1 0 zz 2ys O ri  2w3ys  3yd

1 za ya xf ways yd zd iy wayd oyl

00000y 00000 «000000w=wu(z,y) 00000000000 1002003000000
gob20000000 30000000000000000bO00000ObOO0O00O0ObO0b000 «0000
Udbbbww, 000000000000000000OO00O0O0O0O0OO0OO0O0OOO0O0OO 11000800
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00000000200000000000000 s000000000000000 u(s) = dy+dys+dos?
ooo0oO0300b0000 dy,dy,d, 0 3000 . O0000DO0O0O0O0O00 0000000000 wuy,
000000100 us(s)=do+d;s00000000000O0OO0O0UODOOOOOOODOOOOO 30
Hermite 0000 O0wD0OO0O00O u(s):do—l—dls—l—d282+d353D 4000000000000000 w0 wu,
000000000000000000 0w, 00000 u,(s)=eoters+exs2000000000000
O, 00000000000D0DODOOO0OO00O0DODOOOODODODODOOODOODODOOOOO0O
0000000000 oDO000000o00ooo0o0o000oooooooooooooooon
5000000000000000000000000 wu, ug, Uy, Uee, Uzy, Uy, 1000000 w, 000
000050 Hermite 0 OO OOOODOODOOODOOOCODODOOOOOODOOOOODOOOODOOOO
goooooooOOoo0d0oOOoOoU0OoOooDoOOoUOD0OoDOoOO00DO0dOC0bOOo0O0O0 20000 w, O
O00000oooooooooooooon
OO00oo0Do0o obooogooooo

ulz,y)= a +cr + csz?
tesy +ary +ora’y

+eey® + cswy® + cor”y’? (9.8)

ooooobooooobooobobooboooboooobobooboboobOooobo10b0oo0obooboooo 40000
gl0odbobObod0ddbwOOoooOooobooboooboboboooooob 2000000000000
000 20 Lagrange 1000 200000000000000000O0000O00O0O08O0O0O0OODOOO
O000o000ooo0o20000000000000000 20 LagrangeODODOODOOOOOODODO
oooooobooooon

000010000 20 LagrangeOOO0O (94)0 A, b0 000000DODO

A b
1 =1 y1
1 y
0ooo 1000 vz Y2 L2y (1 z y a:y)
1 z3 ys3 x3y3
1

T4 Y4 T4alY4

2 2 2 2 2 2
1 Y1 1 Tiyr Yr T1Yir Ti1Yr T1 Y1

ood 20 1 z2 y» 3322 T2Yy2 y22 $22y2 $2y22 90223/22

Lagrange 0 O

2 2 2 2 2 2
1 ®y yo ®y Toyo Yo ToYs ToYs To Yo

gbobooOboboooooooboobooooooooooobOobooooobooboOooooboobonoag
obObOoOoboboooocooboobooOoOooOobooboOooobobooooobooooooooooobooboooOoo
oooo0o0 10000 ¢p00ooboboo0on —-1<¢ n<l1gooopoooobooooooooboooboo
(0000000 1000000000D0000 ¢1(&:)04¢=1010¢=2,3,40 000000000
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goooooooooooon
u*(€) = d(€) - u = Prus +Pauz +P3uz +Pauy

¢i = 7 (14+&&)(1+min) (i=1,2,3,4)

R

ooo ¢,n00000000000

i 1 2 3 4

&l -1 1 1 -1
m| -1 -1 1

0099 000«.0000000x000y0000000000000O00C0O0O0Dw0 z,y0000OO
Dé000000DOODOUDOoOoOoooO
udboobooooooooooooooooon

z=z(&(z,y),nx, ), y=y(x y), = y) (9.10)
0z y000000

1= le'g‘i"f)ml'r,, 0= fa:y£+"7wym
0= fym§+ny$777 1= £yy5+77yy77

O0000000000000 (metrics) 000000000
& =ynld, Me=—yelJ, §=-—zy/], my=uc/] (9.11)

OO0 JOOOOODOOOO0OO0O0O JacobianD O OO

O(x,
J = aiz 7?;)) = LegYn—TnYe (9.12)

0(9.11)00000

0 0 0
e ( ) 85 _ j( " 5) af (9.13)
— &y my)\ = —Iy ¢ —
Oy on on

oddood¢0OOOODOOOODDODO

o L yy —ye\[®e L &y —0c-y\[&e
i = = 9.14
<¢y) J (‘xn Te ><¢n) J <_¢T/ ‘T T ><¢n> | :

goobooooboooobobobooboooooon

Ty Y1

P 1(-14+n 1-n 1+4n —1-n Ty Yo
= — ) = 915
<¢n> 4(—1+§ S1-€ 14¢ 1—5) S 015

T4 Y4
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000000000000000000 (9.9)0 200000 z(¢)=¢(€)-z0000000¢000000
we =¢x00000000000000000000000000 (¢i)e =& (14mm) /4, (¢:)y = mi(146:£) /4
oooo

0000000000000000

1 g1
@ @ie= [ [ oon©r€dsa (9.16)
e -1/ -1
0000000000000 6.1.300000 Gauss OO (Gauss-Legendre 0 00)0O0O0O0O0OOODOO
6
7 5 3 7 8 9
A
n n
8 L» 1 24 5, 46
3 3
1 2 3
S s=1
1 2 3 r=1 2 3
serendipity element Lagrange element

0950002000

800 2000000000200 (8node quadratic serendipity element) 00 0000000000030

TOHEOQ )& tnn—1) (6 =1, 7 = %1, 00)
6= 3(1-E) (1 +nm) (=0, =1, 0000) (9.17)
S+EO(1—7) (€ =+1, 5 =0, 0000)

00900 2000000000 (quadratic Lagrangian element) 0 0000000000000

9

w(&m) =Y dil& mui =Y > LAELIMm)us (i =r+3(s—1)) (9.18)

i=1 r=1 s=1

000 L?20 20 Lagrange00 0000000
L) = —561-0), L}O=1-€, I3 = 3601+6)

00000000 ¢a(E, n) = L3(EL3(n) = —(1-€)n(1-7)/2000 0
00000000 serendipity 0 00O O

<¢§) 1 ((1—n)(2§+n) CAg(lmg) e —2(1—772))

b,)  A\1-9(E+2m) —2(1-€) e ~4(1=€)

2Horace Walpole 0 0000 0 “The Three Princes of Serendip”(0 00 00000000000000D0)00000000

0000000000000000000000d

3000000000000000000¢(¢) 000 ¢ 0 10000000 00000000000¢:(&,7m), & = +alO
¢i(Fa,n) =0000000000 o?+&£000000 ¢(+a, £b) =0000000000 a(é2—a?®)+B(n?>—b?)0a, 000
000D0000¢»n000000000000 «=40000000000
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OO0 LagrangeO O QOO

<¢g> _ 1((1—2077(1—1;) An(l—m) e (1+2£)n(1+n)>
¢.)  A\EQ-H(-2m) —201-E)(1-2p) oo E1+6)(1+2n)
goooooo

gbboo1l1obooobobd«z000«0000D000O0O000O0DOO0OODOOODOOOOOOOO0
oooooooooo

000 ¢:(€), () 0000000000 ¢0000000000000¢;(¢)00000 ¢(€) 0000
000000000000000000000000000000000000000000000000
0oO0O0O00o00o0O0Oooo

00 w o0z

sub-parametric element isoparametric element super-parametric element

serendipity 0 0 0 Lagrange OO0 O 0O0OOD0OOO0100000D0DO0O0OO20000 LagrangeOOODO
000000 O0O0O0O0D00 serendipityDO0O000O0OO0O0O0O0OOOO0ODOOOOODOODOODO

oooo0O0 oOoooooooooooooooo0oo0ooooooOODODOOODODODOOO
oooooooooooboboDbOOoOOo0O0obooOoooboOooOooobOobL s00b0OUbOODOODOb
goooopoOooooooOoooOoOoOO0OO0OOOO00O00oOobD 20000000000 OOOOOO
0oooooodoooooooooooooooooOUdOooObOOoUUUUDOOoOCOOCOOUOOOo
0000000000000 00OooO0OO00O00O0D 100000000000 00000 (940 A,b
ooooooogo

A b
1 = oy o=
1 ; ) .
0001000 T2 Yz = (1 z y z)
1 xr3 Y3 z3
1 zs ya 24
1 z1 y1 21 Y1z z1T1 Tyl Tiy1z1
1 = PR 222 Z2T2  T2Y2  T2Y22:
00000 1o 2 Y2 Z2 Y222 R2X2 2Y2 2Y222
oo || e (1xyzyz zr xy xyz)

1 x3 ys 28 Yszs 28T T8Ys TaYszs
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933 0O 0O O

000 (calculus of variations) 0 0 00 0000000000000 0000O0OOOOOOOOOOOO
obobooooooooboooObobobOobOOooooOOo FEMOOOOOOOOODOOODOOOOOOOOO
gooooDO0000O00000000b000b0DO00O0O000000 FermatODOOOOOOOODDO
O000000b0000o0ooOobDO0CCastigiano0 0O 0OD0OO0O0OO0O0OOO0OOOOOOODODOOOODO
ubhooobooooboooobobooboobobbooooooooboooobooooobooboooooon
ooooobooo FEMOOOOOODOOODODOOOOOOODOOOOOOOOOOOOOoOOoOobOoOOon
gobboobbobooobooobooooobooobooooboooboboobboobooooooboooaon
ooo0o 100000

00000000000 00000®, 21, u(zg), u(z;) 000000000000 (functional)

J[u] :/ F(z, u, u')dz = min (9.19)
ET)

000000000000000%FO0 z,u,v(=du/de) 000 20000000000 w0 2000
200000000000 J00000000uw(z)000000«0000000000J00000
000000000000 00000O0000O0O00O0O00O00000C0000D0wz)DOODOOO
gobobooooobuooboo s0O000b 0000 bOwO0O0DOO0OO0OO0O0ObOOObOOobOOoDOOOn
0000 «.000000000000000 e000 u+du=u+en(z)00000 (91990000000

x1
Ju+en] :/ F(z, uten, u'+en')dx
BT

obooooboooobooobOobObOo egooooooboono

T1

d
aJ[u+en] :/ (Fun + Fyn')dz =0

0

0000000000000 0x()=n(z;)=000000

/“n(Fu - %Fuz)d:n =0

o

oboboooooooobopObOoOoOOobObOOoobObOOooooboobobobboon

d
~F,—F, = 2
. 0 (9.20)

ubboooobooooooboboboobooboooooboon

U”Furur + ’U,’Fu/u +Fy.,—F,=0 (921)

0000 Euler 0000000000 DOO0OOOOOOOOCOOOOOOODODOOOO (extremal)0000O
dF,/dz—F,0 FO 000000000 (variational derivative) 0 0 0000000 Legendre 0 O O

Fuw #0 (9.22)

4R. Courant and D. Hilbert, Methods of Mathematical Physics, Vol.I, 1953, Interscience Publishers.
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000000000 00000 (extremum) 000000000000 uw(z)D0OOD0O0« =000000
000000000000 U0000U0oO0o0000 W #000000000000000000O0O0
O0000000000du=en0 w000 (variation)0 OO

oJ :/ (F,0u+Fydu')dx :/ (Fu — %Fur)éu dx + (Fu 0u)z—gy — (Fu 0U) p—g,

0 o
O J0O0 100 (first derivative) 000 0000000000 JO0000000O00OOOOOOOOO
0000000000000 00 w+4u0000010000000000000O0O
Oo0oo0DO0oO0O00DOODO000000000 10D00Eder0D0DODODODDOO
00 u(z),v(z),.. 000000 OOODO0OOOOOOOOOOOOOO

x1
J:/ F(z,u,v,...,u v, ...)de = min
e
w+6u, v+év, ... 00000 1000000
x1
6J :/ (Fuéu+Fydu' + F,6v+Fy v+ )de =0
e

ooooooo

' + Fyrdv

o

0J = F,du

+/(Fu - %Fur)éudx-l-/zl(Fv _ %Fv,)évdx-l---- =0

0 Zo
0000 Euler0O0 00

d d
_Fu’ _Fu :0, —F,Ul _Fv :0
dx dx

ooooooooog

u”Fu’u’ +ulFu’u +Fu’z _Fu = 07
U”Fv’v’ +'Uva’v +Fv’w _Fv =0

oooo
gogoe, ..., 00000000 00000000
J :/wlF(:U, w, v, u", ..., u™)dr = min
0
0000 u(zo), u'(xo), --. , ul™ (x0), u(z1), u'(z1), ..., w™(z;)0000000000000000O 10
0oooog

5J = / (Fudu+Fydu'+- -+ Fy0u™)dz = 0

goooooo

n

o d d? d
5] = (Fu— ~Fy+—~Fuy—+ (-1)"—F, )udz =
/ /:co( dx +d$2 + )d:r," ())u:v 0
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0000 EulerOOO0O

d d? dr
FoeLtpt L Fp— oy (c1)" ) =
dx + dx? +(=1) dgn v 0

gbobodbooooobobobbobobog n=20000000000000
Fu - (u”IFu’u” + u”Fu’u’ + ulFu’u + Fu’z)
+u(4)Fuuuu + u”l(uI”Fuuuuuu + ulIFuHu!uH + ’LLIFuNuuH + Fu”zu”)
+u”l Fuuu/ +u” (uI”Fu”u”u’ +u”Fu”u’u’ +ulFu”uu’ +Fuumu1)
+ U” Fu”u +ul (UI” u''u'"u +u”Fu”u’u +uIFu”uu +Fu”zu)
+ (u”IFu”u”z + u”Fu”u’z + ulFu”uz + Fu”wm) = 0
000000000 Do0oD0oO0UoDoUDOooO00 w(e,yy0DOOOO
J :// F(z, y, u, Us, uy)dedy = min
G
g1o0oood
oJ ://G(Fuéu + Fy, 0u, + Fy, 0uy)dedy =0

ooooooo?®

0 0
5J ‘7§(F"w dy — F,, dz)ou +//G(Fu = g Fon = gy Fuy)bududy =0

obb0«O0000000000

o o
8J _//G(Fu — 5o Fu - a—yFuy)éuda:dy =0
Euler OO QOO
d d
—F, +—+F, —F, =
or + oy 0

gbooooooood
uzzFquI +2uzyFquy +unyuyuy +uzFqu+uyFuyu+Fuzz +Fuyy_Fu =0

gooo
oooooooooooooooboooon Eulerl]l]l]l]DI:IEI2F:Vu-Vu=um2+uy2E|EIEIEIEIEI
uog1goo

1
J :// §(uf +u,)dzdy = min
a

oJ :// l(ugccsugc+uy(5uy)d:cdy =0
a2

50000000 100000000000000 Jfa-0Vudedy0ODODOOODOO0DO0O0000O a-6Vu = V-(adu)-V-adu
00000000000000000000 100000 Gauss0ODODOOODO [fV-(adu)dzdy =¢anduds000000
0n000000ds000000D0D00000000ORds =(dy —de)0000
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0000000000000 0uzbu,+uyduy, = Vu-Véu = V-(duVu)—duVZ?e OO0 000 O Gauss 0 00
000000000 n-Vu=u, 0000

6J :%unéu ds —// (Uga +Uyy)ou drdy = 0
r G

00000000000 EuerO000O0 Laplace 000 VU = ugetu, =00000000000
000000 Poisson 000 uge+uyy, =g0 0000

// (u? +u +gu}dxdy

00000000000000000000
00 2F = (V2u)? = 2+ 2upptiyy+u,,2 000000000 1000

1 , .
e]
0J :// (UgzOUgz +UyyOUgy +Ugy OUyy +Uyy Oy, ) drdy :// Vu 6§V drdy = 0
a el

00000000000000V2iVa =V (VudVu) — VV2-0Vu = V- (VuVu) — V-(VV du)
+ V2V 000000Gauss 000000000

5J:?{( w Oty — Vg, 5uds+/ V2V du dedy = 0
r

00000000000 Eder000000O000O (biharmonic equation) V2VZ = Ugpzz + 2Uszyy
tiyyyy =00000000000
oo ooboobdooooob o000 wobObboooooao
ddfdodddodoobobooooobooboooboobooo0oo0obLOU0oooLoobDbOoOooo
x1
J:/ F(z, u, u")dz = min

o]

gobooooboboooooboo1l100b0o0d

0J = (Fur6u)w:$l — (Furéu)w:wo +/ (Fu—%Fur)éu dx =0

To

0000006 =000000000kWer0000O00OODODOO
F, =0 (x = x0, x=1)

0000000000000 DO00000000000 (natural boundary condition) 0 00 000
0oo0oo0o000o0o0o0oooooooo0oooo0ooooooooo0oo0oooooooon

J :/ F(z, u, u")dz+@1(u1) — oo (up) = min

o]

Ug1o0000o0d

5] = (Fu +¢,)0u

— (Fu +¢)0u B +/ (Fu—%Fuz)éud:U =0

= T 0
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Oo0ooooo
FU’"“PE) =0 (T = 20); FU"HPIl =0 (z =)

O000OPoisson 000000000000

J ://G{%(uf—l—u;)—}—gu}dmdy +£(%Uu2—7u)ds = min

0100oooo
6J = —// (Upw +Uyy—g)0u dedy +?{ (un+ou—7)ouds =0
G r

obooooooooobboobobooooooboobon

Upn+ou =T on I’

934 FEMUOUOOOODOODO

gboobloobooooolooboooobOooooooboo 1o0o0ob0l100ob00oo0ooo2000d
gboobOobOoOobOOOOoObOOOoOobOOO0ooOoobOooooooOooob 3oboooobooooooooo
0000000000000 Laplace000 V2w =000000000000 100000000 FEM
000 Galeekkin 00 OO OO0OO0OO0OODOODOOOOOOODODOOODOOOOODOO

Z(uk—uo) =0

k=1

Uil z=2z,00000000000z=2, 000000000C0C000O0000O0COOOCOOOO
OO0000000000 «yOOO0O TaylorODODOOOOOOCOOO

1 . . 1 1 1
U = u0+hak-Vuo-l-gaz(ak-V)2u0+§a3(ak-V)3uo+Ia4(ak-V)4uo+§a5(ak-V)5uo + -

000 «00000000 100000a; = (1 0), a2 = (1/2 V3/2), a3 = (=1/2 V/3/2), a4 =
(=1 0), as=(-1/2 —v3/2),a6=(1/2 —+/3/2)0000u;0 Taylor 000000000

U U Uy | Uzz  Uzy  Uyy | Uszx Uzey Uzyy  Uyyy
1y w1 v 31 B 3 s
2 2 4 4 4 8 8 8 8

Uy 1 2 0 4 0 0 8 0 0 0
U2 1 1 1 1 2 1 1 3 3 1
u3 1] -1 1 1 —2 1 -1 3 -3 1
Ug 1 2 0 4 0 0 -8 0 0 0
Us 1/ -1 -1 1 2 1 -1 -3 -3 -1
Ug 1 1 -1 1 —2 1 1 -3 3 -1
sum | 6 0 0 3 0 3 0 0 0 0




16 b ooogogoobobo

UVrzzw  Urzzy  Uzeyy Uzsyyy  Uyyyy | Uzzzees Uzzzey Uszeyy  Uszyyy  Uzyyyy  Uyyyyy
1 V3 3 3V3 9 1 V3 3 3V3 9 9V3
16 16 16 16 16 32 32 32 32 32 32
16 0 0 0 0 32 0 0 0 0 0
4 6 4 1 1 5 10 10 5 1
1 —4 6 —4 1 -1 5 —10 10 -5 1
16 0 0 0 0 —32 0 0 0 0 0
1 4 6 4 1 -1 -5 —10 —10 -5 -1
1 —4 6 —4 1 1 -5 10 —10 5 -1
9/4 0 18/4 0 9/4 0 0 0 0 0 0

sumO000000000000 200000000000000000000000000

6
1, 91 -

Z(uk—uo) = 3§a2v2u + ZI(#VZVZU + 0(a%)

k=1 ’ ’

Laplace 00000 V2V =00000000000000
5 8
2 _ 4
Vou = 32 kE_l(uk—uo) + O(a%) (9.23)

00 Laplace 0000000000000 OPoisson 000 V2u = —p0000 100 p = c+ciz+
ey, ¢, c1,co 0000000000 DOODOOO00ODOOODODOOODODOODOODDODOUOOODDO
O0D0Laplace000O0O0O0OODODOODO 1000000C0DOOOOODOODODOOODODOOOOO

960001000000

94 0JUOOOOOOOO



